Vertical mass on a spring: SHM?
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Consider a mass m attached to an ideal spring with spring constant k. If we lower the mass slowly, it will come to equilibrium, stretching the spring by an amount |y1 - y0|. Note: the displacement down is negative, and the restoring force up is positive. If we pull the mass farther down, to a position y2, and release it, the mass and spring will move with simple harmonic motion.          

1. Draw the force diagram for the mass when it is in equilibrium, and find an expression for |y1-y0|. 

2. Draw the force diagram for the mass when it is pulled down farther (right hand diagram) and then released. Determine the net force on the mass just after it is released.

3. Simple harmonic motion occurs when there is a restoring force proportional to the displacement. Is this true for the mass hung from a vertical spring? Why? If so, from where must the displacement be measured?
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